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Subject Marks Time
English 30 60 Minutes
Mathematics 35 60 Minutes
Physics 35 60 Minutes
Total 100 180 Minutes
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INSTRUCTIONS FOR THE STUDENT S
Objective Part ,mf >
» All questions are compulsory. SUEHIE gV
» All questions carry equal marks. -uzubﬁ/zuiauwa .

* Do not fill more than one option
for one question. Multiple GBS LS L Lzl Jr L
options will be considered EE e e g S
wrong. ) )

» Fill correct options according to
the following example.

_Q//f&&w‘édff{d):«lﬂﬁéamr .

@
®
©
)
» Pencil should be used to fill the .
answers. RS Lz
» Finish each part in the given S &W&&:ZL;/ sl Rt iy =
time as mentioned in the paper. S
= Use the given blank page for S 2 bsnr e VA L S
rough work. /S
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INSTRUCTIONS FOR THE STUDENT S
Subjective Part Nt
= All questions are compulsory. Y9 e VAR

‘/
= Finish each question in the given S Lend s 28 bmay Uiy "
time as mentioned in the paper. S
. \;AVZflid over writing or untidy ‘Q /'/n%é”— i I f S
= Use the given blank page for Ko gdole sd L8 Si6 o
math’s rough work. e
» Pencil should be used to write - Sk E L selln

the answers.
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MCQ Practice

1. Name of our country is

Kenya. ®

Pakistan.

Malaysia. ©

Indonesia. o
2. Add.

2+2=

4 ey

5

6 ©

7 ©)

‘L(L'K.«d;/‘ﬂ 1
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English

1. Complete the following sentence.

He has been teaching in this school ~ 2013.
for ®
from
since ©
starting ®

2. Choose the correct spelling.

Pleasant ®
Pleasent
Pleseant ©
Pleseent ®




Page | 6 of 40 (SAS — ESSP — Assessment Feb — Mar 2019) Grade-X | V-I Urdu

3. Read the given sentence and identify the adjective.

The stadium was gigantic.

The ®
was
gigantic ©
stadium ®

4. Pakistan held an Islamic Summit Conference in the year

1974. ®
1975.
1976. ©
1978. ®
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5. The synonym of word “Glimpse” is

sight. ®
to climb.
a grassy field. ©
to move heavily. ®
6. The word “Akhund” means
read. @
write.
teacher. ©
fisherman. ®
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7. Read the given sentence and identify the speech.

My friend said: “Thank You.”

Direct ®
Indirect
Negative ©
Interrogative ®
8. The following idiom means
“To beat about the bush”
To have a grievance. @
To overcome shyness.
To go around the topic. ©
To withdraw from an argument. ®




Page | 9 of 40 (SAS — ESSP — Assessment Feb — Mar 2019) Grade-X | V-I Urdu

9. Complete the given sentence by choosing appropriate word.

A large had gathered outside the court.
limp ®
gallop
crowd ©
disguise ®

10. The opposite of the following word is

Grief
anguish ®
SOITOW
pain ©
joy 0)
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11. The poem “Speak Gently” tells about

12.

speaking rudely
speaking loudly
speaking slowly

speaking politely

®@ ®

@ ©

Choose the correct option of the given question.

Manora is an

in-shore

out-shore

off-shore

side-shore

®@ ©

@ ©

Island.
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13. Read the following paragraph and answer the given questions.

I (Marks 05)

Louis Pasteur

Louis Pasteur was born in 1822, in France in the ancient town
of Dole. He went to a school in Arbois when he was six. After he
graduated, he went to the Royal College in Besancon where he earned
his B.A. and then a Bachelor of Science degree, two years later at the
age of twenty. In 1847 he received a doctorate degree and became a
professor at the age twenty-six. His research led to the process of
pasteurization of milk to kill viruses and harmful bacteria. He named the
new science bacteriology and suggested a new theory, The Germ Theory
of Disease. He believed that diseases were caused by germs attacking
the body from the outside.

His next task was to try and find the cause of disease in the
body. He developed a vaccine for a disease in chickens, fowl cholera,
and a disease in animals, splenic fever; Pasteur devoted the rest of his
life developing vaccines for the people against diseases such as cholera,
diphtheria, tuberculosis and smallpox. The Pasteur Institute was founded
in 1888 in Paris. When he died, he was buried there in a fine tomb.
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i) Who was Louis Pasteur?

ii) Explain the main characteristics of the research he carried out.

iii) Which theory was suggested by Louis Pasteur?

iv) According to Louis Pasteur, what is the main cause of diseases?
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14. Write a letter to your friend and tell him/her about your city.

I (Marks 05)
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15. Convert the following sentences into Active Voice.

I (Marks 03)

The tiger was killed by the hunter.

The lesson was learned by her.

The meal was eaten by the boys.
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16. Write an essay of 120 words on the “Importance of Saving Water”.

I (Marks 05)
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“Rough Work”
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Mathematics
17.1fM ={ }and N = {2,4} then AIN={2,4}sM={ Y. 17
MXN=_____ .
MXxN =
{2} ®
(4}
{0} ©
{ } ®
18. ISf AST= {1,2,3}and T = {3, 5}, then IT = (3,5}8 = {1,2,3}/1 .18
- ' SAT =
{5} ®
(1,2}
(1,2,5} ©
{1,2,3,5} ®
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19. The value of “x”" in the following d%n:«}d/“x”uﬁfgfﬂég;
logarithmic form would be i )

log, 64 =x
3 @
4
6 ©
7 0)
20. Identify the law of logarithm from TS5l L (E’ e s
the following. ) )
log, xy =
log, x +log, y ®
loga X = loga y
logq x X log, y ©
logg x +log, y ®

19

20
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21. Divide.

o

Ny
VIS _
= =
3 ®
10
V3 ©
V10 ©)
22. Simplify the following exponential NP AT S
form. ) )
1
(4x~%y™hz =
(x~°y™?) ®
(2x~*y™?)
(4x~°y~°) ©
(8x~*y™%) ®

21

22
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23.

24.

When A = 2x3 — 2, B = 3x% and B = 3x2A = 2x3 — 20>
C = x3 + 2x? + 5, then the value '

of the following would be J’“"EJZQJC =x34+2x%+5

A+B+C
2x34+3x% -5 @
3x3 —8x% -3
3x3 4+ 5x%+3 ©
2x3+8x%+5 o
When V; = 0 metres/sec, e A6 a kLAt L 320V
t = 4 sec,a = 6 metres/sec?, )
then S = : &
S =
1 2
S=V,t+-at

2
28 metres @ 028
35 metres #2135
48 metres © 48
56 metres ® #2156

23

24
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25. Identify the factors of the following G ez LS s 25
expression.
8m3 + 125 =
(2m + 5)(4m? — 10m + 25) @
(2m — 5)(4m? + 10m — 25)
(5m + 2)(2m? — 8m + 25) ©
(5m — 2)(2m? — 8m + 25) ®
26. ghe LCM of x3y and 2x2z would Cufisbonis2x2 203y 26
e
x? ®
yz
3xyz ©
2x3yz ®
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27. If (y — 3)(y + 5) = 0, then (y=3)y+5) =0/ .27
y=— _
y =
{3,5} ®
{_37 5}
2 1 .o 2 177
28. IfZ = [7 3],then | JZ = [7 3]/1 28
Adj.Z = Adj.Z =
2 —1] ®
7 3
—2 1]
7 3
—3 1 ] ©
7 =2
3 —1] ®
-7 2
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29. When F and G are two matrices S I GAF AL e s> 29

given in the following, then

FXG=

NO AN N A

i A il B

FXG=

=l ik o=l
®
©
®

30. Following are the marks obtained oS Lottt L FULuF1000s 30
by 10 students in a Mathematics ) ' i

test, the median of their marks FRTT )y PRV, L

would be

28

31

38

41

27,26,32,30,35,47,57,77,49,53
ey

©
©)
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31. If P = {x,y} and Q = {a, b}, then Lo 3Q = {a, b}P = {x,y})1 31
show that the following. )
-/ =t

I (Marks 04)

PXQ#QXxP
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32.Ifmoc%andm=4whenn= 1, Smin = 1)f/?m=4ulmoci2f; 39
) n

find the value of “m” whenn = 2. ) _ r
Show steps. JS1rn = Zﬁu{/ﬁ’”b«xj

I (Marks 04)
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33. Solve the following equations by L Jw1Z (Cramer) £/ ehloSisse .33
using Cramer’s rule. Show steps. Al ey
~LsJ - A
I (Marks 04)

2x+y =17,
5x + 4y = 4.




Page | 27 of 40 (SAS — ESSP — Assessment Feb — Mar 2019) Grade-X | V-1 Urdu

34. Ellmlnate “t” from the fOllOWlng “t”cgi_)i'g/@/;d;uﬁ;,|,pfd, ’34
equations by substitution method. ) )
Show steps. LSS g

I (Marks 04)

x = 2at?, y = 4at
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35. In the given table, the weights of 50 &) ;2,850 L (It swie s 35
students in a class is shown. Find ’ ) T

the median of their weights. Show e ek Lo e (i)
steps. JES g S
| (Marks 05)
Weight 31-34 35-38 39-42 43-46 47-50
(in
kilograms)
(e E)ion
Number of 10 12 16 09 03
students
)ijd/;&
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36.

37.

Physics

Find the volume of a rectangular
box, the length of which is 2cm,
breadth is 1.5cm and height is Icm.

3cm
4 cm
5 cm

6 cm

Identify the state of equilibrium in
the cone as shown below.

®@ ®

@ ©

SUSUI B St A s L S

-1 cmdise1.5 cmdrig2 c.m

/S o s i S S L s

unstable equilibrium
dynamic equilibrium
neutral equilibrium

stable equilibrium

®

@ ©

SITIL
SIS
SRR

AN

36

37
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38. Ability of a body to do work is a&MwuﬂJé_/ﬂLﬁJf 38
called ‘ )
power. @ =30
gravity. F
energy. © g
force. ® )

39. Ifw IS the Welght llfted by the Lué’:’/[P /”L’MEQ’LU’?‘}?LU)) W j‘ .39
machine and P is the effort applied ™ £ PP
to the machine then the mechanical £nl by Fr %‘f( RO

advantage formula would be

M.A=W x P ®
MA=Px W
MA=W =P ©
MA=P+W ®




Page | 31 of 40 (SAS — ESSP — Assessment Feb — Mar 2019) Grade-X | V-1 Urdu

40. The efficiency of a real machine is e G RS S 40
always ‘
more than 1. ® i1
less than 1. -{&1
equal to 1. © L1
equal to 0. ® 1,20

41. Identify the instrument shown in the  _ Ui JAM £ s ie é;s éf (2 41
diagram given below. - =

M
(LG
-

g _—

\\ /%

|

physical balance @ TEL P
vernier callipers S
measuring cylinder ke

® 06

micrometer screw gauge

é’i%!}f}/h
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42. A pair of scissors is an example of Sode J@,&}? 42
lever of ‘ ‘

first kind.

second kind.

® ®
L
2\\.:
N

third kind. © ] J (:’d/:“
fourth kind. ® ] d/ (:} f:z

43. The point around which lever is el e £ i e 43
rotated 1s called 7 7 LU
fulcrum. ® p Y
effort. N
mass. © i
load. ®

-,
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44. Solid, liquid and gas are three states u(d‘zdl-u*f(ﬁ'ufu( U 44
of matter the fourth state is found to i )

be L
plasma. ® ik
photon. OrZ]
plumbic. © k
plumbum. ® _(j‘i

45. The stress that changes the objects e ol e b SUS 2 Ujﬁfbu 45
length is called Tensile ‘ ’ VR :

mass. @ et
stress. i
length. © NS
height. ® S
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46. The rain drops are spherical in
shape due to

surface area.
surface length.
surface tension.

surface volume.

47. Specific gravity is determine by

Pascals principle.
Relativity principle.
Archimedes principle.

Cosmological principle.

< wuji_néf Ja/c_.nu?g/jfrdg
i

_Ik
e
S

et

® ©

® 06

‘Lu:‘acj:lggadﬂﬂu%dﬁ;?&a/u’ﬂg
® U
_J!"lgé}:g/

U 4

® 06

I8 ¥

46

47
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48. Conduction is the process in which ui'()'a/uc()'vac«/'fuﬁfiuyﬁr 48
heat is transferred from one part of )

the body to the other by interaction <& i Qe r”
of

waves. ® Ly
proton. Ly
electron. © sy
neutron. ® Ly

49. The branch of physics which deals e 3 MK TSz S 5 .49
with the motion of objects, with or ‘ )

without reference of force, is called «Ldu"( edutdnd
Mechanics. ® =k
Plasma Physics. v Ptk
Nuclear Physics. © v PRy
Electromagnetism. ® ety
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50. Exp}ain New‘Fon’s third law of {_J i i SIS LSy 50
motion and give any two examples )
from everyday life. -Qﬁdgt’»

I (Marks 05)

Example 1:

Example 2:
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51. A motor cyclist covers 100 min 10 . /p #2210 L4k 22 100 L2l .51
seconds. Find the speed of the )

motor cyclist. -u/ o G F v

I (Marks 03)
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52. Diffeﬁentiate between mass and -U:/G.IUJ/‘U&’/)LUJU"G’:{ 52
weighnt.

I (Marks 04)

Mass Weight
s"»'.’.{ C)2)
i)
1)
53. Explain the Centre of gravity. S IF S L J,.)?“ 5 53

| (Marks 01)
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54. Indic.ate. the position.of centre of S SL L JJ 5#’6’6’ , 54
gravity in the following objects.

(Marks 04)

-
O
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55. What do you understand by S fls L u“/_ Ve il 55
atmospheric pressure? Explain the ) i i
collapsing can experiment. Uk

I (Marks 04)






